

Arrastra la solución correcta en cada casilla

$$1. \quad \frac{3}{5} \cdot \left(2 - \frac{1}{3}\right) + \frac{1}{6} : \frac{1}{2} = \boxed{}$$

$$2. \quad -\frac{4}{3} \cdot \frac{1}{2} + \frac{3}{4} - \left(\frac{1}{3} + \frac{1}{2} : \frac{2}{3}\right) = \boxed{}$$

$$3. \quad 3 - \frac{2}{3} \cdot \left(1 - \frac{1}{4}\right) + \frac{3}{8} \cdot (-2) = \boxed{}$$

$$4. \quad 5 + \left(\frac{3}{4} - \frac{1}{2}\right) : 2 = \boxed{}$$

$$5. \quad \frac{7}{4} + \frac{1}{3} \cdot \left(2 - \frac{1}{5}\right) = \boxed{}$$

$$6. \quad \left(\frac{3}{4} + \frac{1}{8}\right) \cdot 2 - \frac{7}{8} = \boxed{}$$

$$7. \quad \frac{2}{5} + 5 - 2 : \left(\frac{2}{3} + 6\right) = \boxed{}$$

$$8. \quad 5(4 - 2)^2 + 1^2(2^3 - 5)^2 = \boxed{}$$

$$9. \quad (10 - 3)^2 + 2[6 - 5(3^2 - 2)^2] = \boxed{}$$

$$10. \quad 3^6 : 3^4 - \sqrt{49} - 7^0 = \boxed{}$$

$$11. \quad 8^2 \cdot 8^0 - \sqrt{100} - \sqrt{64} = \boxed{}$$

$$12. \quad \sqrt{81} + 2^6 - (2^2)^3 = \boxed{}$$

soluciones

$$\frac{7}{4}$$

$$-1$$

$$\frac{47}{20}$$

$$\frac{7}{8}$$

$$1$$

$$-429$$

$$46$$

$$9$$

$$\frac{41}{8}$$

$$\frac{4}{3}$$

$$29$$

$$\frac{51}{10}$$